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INSTRUCTIONS

1. This paper contains FIVE (5) questions

2. Answer question 1 (Compulsory) and ANY other 2 Questions

3. Write all answers in the booklet provided
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Section 1
Answer ALL Questions from this section

1. Distinguish between RAM and ROM
(2 marks)

2. a) What is the difference between metropolitan network and local area network
(2 marks)

b) Briefly describe how a point to point network operates

(6 marks)

3. State any three functions of the bus subsystem
(6 marks)

4. Explain the operation and purpose of cache memory in a computer.
(5 marks)

5. Computer hardware has suddenly failed while the user was attempting to type the word
HIP using the keyboard. Using the role of interrupt to explain how the two activities  of
pressing the keyboard and hardware failure is handled by the computer system

(7 marks)

Section 2
Answer any TWO Questions of your choice from this section

6. a) Work out the result of the following binary operations.

101-11 (6 marks)

b) Convert the hexadecimal number FCEA to binary (7 marks)

c) Write the result of the hexadecimal addition CE + DF in hexadecimal form.
(8 marks)

7. #include<iostream.h>
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int main()
{

int  x;
int fib_twice(int );
cout<<"Enter  an integers"<<endl;
cin>>x;
cout<<fib_twice(x);

}

int fib_twice(int n)
{
if(n==0||n==1) { return 2;}

else  {return fib_twice(n-1)+fib_twice(n-2);}
}

In the program above,

i) write down the parts that contain;

a) parameters        (3 marks)
b) arguments        (3 marks)
c) function call      (3 marks)
d) function prototype (3 marks)

ii) Identify the two mistakes in the program and write down the correction
(4 marks)

iii) if the above program is compiled and run, write down the output if the input is 4
(5 marks)

8. Below is a worksheet for excel. Use it to answer the questions that follow:
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a) When  the formula =(C$1+4) is entered in cell C2 and copied to cells D3 and E3 then
results obtained in cells C2, D2 and E2 are--------, -------- and ------- respectively

(6 marks)

b) When  the formula =($A$2*2) is entered in cell B2 and copied to cells B3 and B4
then results obtained in cells B2, B3 and B4 are--------, -------- and ------- respectively

(6 marks)

c) When the formula =average(sum(A$2:A$4), sum($C$1:$E$1)) entered in cell A6 the
answer is------------------

(9 marks)


